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Rule 1 » That/so that/in order that
(FTO)

Structure 1: Present Tense — that/so that/in
order that — subject +can/will/may + V1 +
obj/ext.

Structure 2: Past Tense— that/so that/in order
that — subject + could/would/might + V1 +
obj/ext.

Example:

1. We eat so that we can survive. (SITNHT 412,
2. We ate so that we could survive. (TNSI
(4T, TS F(E AW AEFO/ACIR FACS
RIBSIRY)

3. We eat so that we may live. (SINQI 41, [CO
FE AN MG N1F)

4. The farmers sow seeds that they may get a
harvest. (FIF AT INN I, MO A O
P (HTO ATH)

5. | closed the door so that he might not enter

the room. (SN %GNG IF IFLAMR, MO I T
DPOF AT FACO 1 AH)

6. She saved money in order that_she could buy
a gift. (7 BIFT GINCARE, ACO IE T JF06
THRR [FAo o)

Rule 2 » As if/as though (JY¥.. ()
Structure 1: Present Tense— as if/as though —
subject + V2 + object. Or Subject + were +
object.

Structure 2: Past Tense— as if/as though —
subject + had + V3 + object. Or Subject + had
been + object.

Example:

1. He talks as if he knew everything. ((
ANNONF IR (TN (T 52 GI©)

2. She spoke as if she had known everything.
(7T AN I (I SR GCA)

Rules 3 » Lest/In case (XC9.. I/
R4

Structure: Any Tense— Lest— subject +
should/might + V1 + object.

Example:

1. Walk fast lest you should miss the train.
(%© 26 V9 YN (EA6 N5 FAR)

2. | wrote down her address in case | should
forget it. (SN ©F BFMI &0y (@R F@a
N a6 B TR)

3. I've bought a chicken in case Raj should stay
for lunch. (WY g6 fBrFE~/TAH FR TS
MG &R AP ANK)
4. They kept watching all night lest robbers
should come. (AT9T SIS (MARA NG TIFCS
o)

5. We must take care lest evil thoughts enter
our hearts. (SNTHE TP (S I MO F-O@T
QMY M AT PO AT ATE)

6. We must take immediate action lest it grew
worse. (MM AREATY [IF WT© NI IO
A5 SRS A=A 1 =W)

7. He hide in the woods lest the soldiers would
find him. (T Sro7Cel PR O (AT ©ONP
LR 1 AAN)

8. Take your umbrella lest you should get wet.
(SNIF 7o AN IS AN fore = )

Rule 4 » Though/although (If"8)

1%t Clause (1) 2" Clause (FeTwe)

Positive meaningful Negative meaningful

sentence sentence

Negative meaningful Positive meaningful

sentence sentence




Example:
Though he is poor, he is honest. (ﬂfﬁ@ o1 mikg,
(1 318)

Though he knows English, he cannot speak in it.

ARS8 T 2RG T, 7 A58 FA IS A
BU)

Rule 5 » Though/although (If"8)
Structure: No sooner had + subject + V3 +
object — than/before + subject + V2 + object.
Example:

No sooner had | reached the station than the
train left. (S CHAN (MRS (GG HTA (51)
No sooner had we entered the room than they
started clapping. (WIS FCF AT* FACO
PICOR OEI 2O OIfd] (M1 BF )

No sooner had the teacher entered the class
than students kept quiet. (P75 (RTFTCH AT
FACS W FACOR FEFIRET B T (91)

No sooner had we seen Eva than she started
waying. (TNHT HelP (MU Nl (MUTOR (3 O
(Tt B FI)

No sooner had the watchman seen the police

officer than he started saluting. (2=t Y&
WFARCP (RATO AT (MYTOR ) G o &P
>9)

Rule 6 » Hardly had

Structure: Hardly had + subject + V3 + object—
before/when + subject + V2 + object.

Example:

1. Hardly had the teacher entered the classroom
when the student kept quiet. (PP (TP
AT FACO2 IR B =T (51)

2. Hardly had | seen Sam when he started
walking. (R SIN(F (MATOR (7 RIBT GF FIA)
3. Hardly had | started working on the computer
when the electricity was gone. (@T&I BB ICIE
O FAC0R AT BE (o)

4. Hardly had Eva seen her mother when she
started crying. (5@l O WF (MUTOR FMCO
WP PJI)

Rule 7 » Scarcely had

Structure: Scarcely had + subject + V3 + object—> when +
subject + V2 + object.

Example:

1. Scarcely had the teacher seen the student when she

started studying. (ﬁw T3 RrewIdtar RICIAY)
P P)

2. Scarcely had John started the journey when it started
raining. (G I~ ©F FA(O2 I WF FI)

3. Scarcely had Samuel closed the door when the calling

bell started ringing. (ST NG 5 BRI HICEEIGN

(I AGITO P FJ)

Rule 8 » Barely had

Structure: Barely had+ subject + V3 + object—> when +
subject + V2 + object.

Example:

1. Barely had Arthur started the speech when Russell

started questioning. (@Taﬁ? IO BF FI02 AT
AN FICO P F9)

2. Barely had Eva started cooking when the doorbell
started ringing. (1O AR WF FI(O2 (O NGNS
GG

3. Barely had Alexander seen Anne when she started
laughing. (TEARTGIT WP (RATOR (3 IO
19¥eT)

4. Barely had Robin entered the room when
Tom started shouting. (RN FCF AT FACOR
BX o &P He)

fU*1¥ ®wB5: Hardly, Scarcely 433 Barely 2T
G52 o RS 2|

Rule 9 » As Soon As (F(93)
Structure: As soon as + subject + V2 + object—
comma (,) subject + V2 + object.

Example:

1. As soon as Rana sat down, the phone rang.
([l DHR (PN (@G \BH)

2. As soon as he teacher came, there was
silence. (FrPFF WPTTOR NI (HIN STSeA)

3. As soon as she heard the news, she burst
into_tears. (YJFGI (NI W@2 (5T FIAN (OLS
AGe)

4. As soon as we reached the station, the train
left. (COAN (MRCO2 (BN BT (51)

5. As soon as the students came to college, the
bell rang. (AT FEATS WSTTOR ([ ([0S
o)




Rule 10 » Would you mind? (&
IR F72)

Structure 1: Would you mind— V1 + ing +
object.

Example:

1. Would you mind taking a cup of tea? (S9N
T aF FIN B (47O WA FAEA?)

2. Would you mind taking this book back for
him? (SN O G 42 320 R [re
QNG FARN?)

3. Would you mind sending that mail for him?
(AR fF O Ty (12 (WD IS A4S
FIEA?)

Structure 2: Would you mind + If + somebody +
V2 + object/ext.

Example:

1. Would you mind if | used your mobile now?
(N NN (WIS FIRE PACT AN Fg
N FIEN?)

2. Would you mind if 1 borrowed your motorcycle

tonight? (MY M WG TS AN
(MGITRAFED 47 I OI=CA AN FR TN
FAEA?)

3. Would you mind if | opened the door? (WX
RAGT A AN FR WA FAEAN?)

Structure 3: Would you mind + Somebody's +
Verb + ing + object/ext.

Example:

1. Would you mind Peter's staying here with us?
(AN B HEIER QNN QNI SN AP
R g W FARA?)

2. Would you mind my brother's coming with us
to the picnic? (WA fF WNEF ©12 WWITHE
S (NP APTTe PR N FAERH?)

Rule 11 » Til/Until (1Y)
Structure 1: Present Tense/Future Tense—

Till/Until— Present Tense.

Structure: 2: Past Tense— Till/Until— Past
Tense.

Example:

1. Just wait till he comes. (fof =1 =™T g
TN PLA)

2. We waited until the train came. (VST G w1
ST 2@ SN FAMREAN)

3. Wait until the rain stops. @'@ 2TNT *1F SCHI
LA

4. Wait for me till | do not come back. (Wﬁ%ﬁm
ST 1 SN G S FFA 1)

5. His mother will be nursing him until he comes round.
(T W1 OI(F TG PR JOHA AT (7 537 AA
TIR)

Rule 12 » In spite of/Despite

Subject + verb +

In spite of/Despite
object

Positive meaningful Nagative meaningful

sentence sentence

Nagative meaningful Positive meaningful

sentence sentence

Example:

1. In spite of his poverty he is honest. (WIf<&3
Sgs fof 57g)

2. In spite of his illness he comes school
regularly. (SPT% 1 g fOfF fafie Fre
JQICAN)

3. Despite of his poverty he is donates. (WIfR&
YFN AgS o W= FHRA)

Rule 13 » It is time/lt is high time/it

is now time

Structure 1: It is time/lt is high time/it is now
time— subject + V2 + object.

Structure 2: It is time/lt is high time/it is now
time— to + V1 + object.

Example:

1. It is time you worked for your future. (.ﬂﬁﬁ
Y WANK O kIO G IIG| FAMF)

2. It is high time to work for your future. (512
TS VT WHNE O kICOF G PG| HAMH)




Rule 14 » Instead of/In lieu of
(GQIERISS)

Example:
1. Instead of history he took economic.

IR A o WS )

2. Instead of tea | prefer coffee. (SIS AfFICS
I Fe AW FMH)

3. In lieu of cricket she loves football. (f&F(HFIBT
ARICS (51 FeTe_*2™ L)

Rule 14 » Conditional Sentence (If)
m First Conditional

Structure: If + subject + V1 + object— subject +
can/should/will/may + V1 + object.

Example:

1. If she gets good grades she will go to
university. (ST V&I (N 7 AR W)
2. If | stand first, my parents will become happy.
(S 2N (T WNE AN Y JE)

3. If you accompany me, | will go to the zoo.

@ = ST Rt Sy fofomram =)

4. If the teacher speaks very fast, many students
will_not follow him. (FFF Y[ T© I Il
AP AR ONF WA FAW A1)

5. If you are not honest, people will not like you.
(wﬁﬂamwmmwww
«1l)

6. If the fog does not disappear, our journey
may be delayed. (FI™NM IS NI (T WNCHS J1&ql
RefEe (o AE|)

7. If the patient's condition worsens, the patient
may die. ((ATNT NIZ AT (e (@ T
(O ANAI)

8. If you apply properly, you can get a visa.

(ST T AT WA FEAN O WA
O3 (TS A1)

9. If the weather improves, we may start our
journey. (RISATT ORf® (A SINE ATNCRE
A §F FACO )

10. If he wants to have good health, he must
follow the rules of health. (fof I SJFFT (TS
BN OlF Ol WI*NR FIFRE (WA Telt® =)

m Second Conditional

Structure 1 : If + subject + V2 + object—
subject + could/would/might + V1 + object.
Structure 2 : If + subject + were +
complement— subject + could/would/might + V1
+ object. (Unreal past)

Example:

1. If | had the time | would learn ltalian. (TNI]
ST AP AN Ro[ferF~ Fory|)

2. If | knew her number, | could ring her. (SIfY
ATTOTN|)

3. If | had a holiday, | would visit London.
(SR 26 Y0 AGN (OO (TOIN)

4. If | attended your birthday party, | would/could
enjoy a lot. (Y WHNNF GAMT AMGCS (Y
AT, SN AR BATO FAC© ANFOIN|)

5. If you went to school yesterday, you should
not_miss your lesson. (W AN OB Hiel
T WHNNF TG 57 a1 Bfog )

6. If we were conscious, there would go
pollution. (ATNLT ATEGON (el KV (J9])

7. If | get Aladdin's lamp, | would remove
poverty from the country. (SN WA ooy
(AT (MY (AP W g PN |)

8. If you practised regularly, you could speak
English well. (RI=f I Rl 2@as @
O WA O 2GS IO AN )

9. If | had another $5000, | could buy a car.
(SUNF FMZ TGS $5000 ADPCA, W JF0
MG FATe A1o|)

m Third Conditional

Structure 1: If + subject + had + V3 + object—
subject + could have/should have/would
have/might have + V3 + object.

Example:



1. If | had seen him | would have given him the
message. (AN M OF (MATS (HOIN O
Y O AT )

2. If you have finished the work, | shall have
paid you. (I AN FIGT *1F FEN, AN
WANCF ARG FIQ1)

3. If you had helped me, | would have helped
you. (@ M SCF SRS HACO, WM
(SIICF ARRT PLON])

4. If you had written the letter, | shall have
posted it. (SN % FBF36 Fy =~ o
N GfS (6 FIOm|)

Structure 2: Had + subject + V3 +

object— subject + could have/should
have/would have/might have + V3 + object.
Example:

1. Had he invited me | should have joined the
party. (BN SINMF =NFY G SN 216
51 (R8T Ofow )

2. Had | not been so tired, | might have realised
it easily. (IO FIS W (el VO HRAGR JATO
ATFOMN|)

Rule 15 » Since (TN¥ { [@RITS)
Structure 1: Present indefinite/Present perfect—
since — Past indefinite.

Structure 2: Past indefinite — since — Past
perfect.

Example:

1. It is ten years since my sister was born.
(AT QNS GAS W1 IR R(«T1)

2. Many years have passed since his friend met
him first. (NP IR (PO (MR O IHI MY
AN (MAT))

3. It was long since | had seen her last. (N(N<F
ST XY (ONR I O <1 (MediR])

Rule 16 » So... that (92 ()

Structure: Subject + verb + so +
adjective/adverb + that + subject + cannot/could
not + W‘ﬁ%"i‘f verb + Pl T

Example:

1. The man is so weak that he cannot move his
body. ((AIF6 492 HA (T (F OF *AANH
NOBUl FICO AL A1)

2. Their throats were so dry that they couldn’t
speak. (TR 516l J©02 BT IR (T ©r =1
A IS ARZA =)

3. He is so expert that he can solve it easily.
SR go2 Rerass (@ SN 5= Gt sTE=
FACS AIN)

4. She is so intelligent that she can understand
it_quickly. (T % NN (¥ (T o JRATO
AICK)

5. He plays so skillfully that everybody gets
amused. (T g© fN2TSNR (AT (T 512 V0
ARI)

Rule 17 » Would rather (998/9<R)
Structure: Subject + would rather + V1— than +
verb/noun

Example:

1. He would rather die than forgive you. ((A
(oINPT PAIE (B NE[EI)

2. | would rather die than begging. (Y f&™
JFAF (B IR W T]I)

Rule 18 » Without + gerund

(QIOIATSIS)

Structure: Without + V1 +ing + object+ personal
subject + verb + ATATCINT P WL,
Example:

1. Without working hard you cannot achieve
success. (P ARTEN QRO WA Spetor
WG FAO AREN 1)

2. Without reading more you cannot make a
good result. (I =1 *NGTel Y Ol Felrpe
FACO AT 1)




Rule 19 » By + gerund (EﬁTlﬁTﬂ)
Structure: By + V1 +ing + object +personal
subject + verb + TG IR A |
Example:

1. By working hard you can achieve success.
(PR AT FE WA THeTOl TGN FACS
ATCIN)

2. By reading more you can make a good result.
(R @ ATG OIell Felrpel P ARIN)

Rule 20 » Unless (% =)

Structure: Unless Y& incomplete sentence o

IFT — O Yy Iy I

Example:

1. Unless you work hard you will fail in_life.
(DA M B AN N FEN ©OF A
G T =E@)

2. Unless you walk fast you will miss the train.
(AR T TS W Mo WA (GG «[re I
REQH1)

Rule 21 » As long as/So long as

(TSM=)

Structure: As long as & incomplete sentence

6 ISy Iy I

Example:

1. | will fight against injustice as long as | can.
(S g N7 @R{onss [Reera «od1)

2. He’s welcome to stay as long as | can afford.
(TF FAWE ANLT AMR T AFE ONF
TS G2

3. I'll remember that day as long as | live. (Wﬁ
T« M6 CIMINE FAT NN A4{))

4. You may take my car so long as you drive
carefully. (SN TOFw FRUTN MG B
OO WA W MG NS AEN|)

5. Wait here as long as it rains. (IO {@ Y|
QYN TR PpPAI)

6. Allah will be with us so long as our aim is
honest. (WIATR AWATHT AN ARV JOHA
QA o755 A8 1)

Rule 22 » Because of/fon account
of/owing to/due to (FISC)

Structure: Because of/on account of/owing to/due
to Phrase Y& incomplete sentence 5 01—

ooy S AT 0T

Example:
1. | could not help him due to my poverty. ('\Sfﬁ
RTATE FRCT ONF AR FACo AR)

2. | could not go to school because of my
illness. (M SO FIACY FA (Ao ARMAI)

Rule 23 » Not only... but also (4G
=1... 8f5e)

Structure:
. Not only 49 A Subject AHFC but also 4T
IS Subject I0A|

. Not only 49 AT Object YHFL but also 4K
A8 Object A

. Not only 49 A Verb ABLA but also 49
A8 Verb (A

Example:

1. Not only Rita but also Ritu will call me. (%
ok ¥¥ Q8 WNIF UIFE|)

2. They are weak not only in Biology but also in
English. (ST ®¢ GRIFS@MNZ N 2AGT08
kSal)

3. Not only she but also her sister attended the
party. (9Y SN2 ¥ O @we Aors sy
frcsfReeT)

4. Rana not only studies attentively but also

takes physical exercise regularly. (1T g

o~

AT AT SR FEN w01, [{afire
HARS IS FEN)

5. She is not only kind but also submissive.

(SN ®Y TR NN, W5re8 JCG1)




Rule 24 » Too.... to

(9X%.....(T)/Enough.... to

Too.... to I sentence 4 TI% BUREIEE
TGO subject YTRTT|

Structure 1: Subject + verb + too + adjective —
to + V1 + object/ext.

Example:

1. He is too weak to walk. (¥ 2i6t® 3
i)

2. The load is too heavy for her to carry.
(ARG O I=7 FAF G YJ O

3. Rana is too strong to defeat anybody. (JTI

FIOF TAMAR G0 Y72 *Snet)

4. He has too much money to purchase anything

anytime. ((X (FW VY F (FAF G ©OF
QNS OIFl ANR|)

Too .. to TF 1 Sentence & IBAHS A 70
fOq subject AFEA|

Structure 2: Subject + verb+ too+ adjective— for
MSAGF subject JF objective form+ to+ V1+
obj/ext.

Example:

1. The Sum is too hard for me to solve it.
(SO TN FA SNH G Y FO1)

2. At times it creates too many problems for me
to solve. (WAl WA 46 WNE SN I 4
AN G0 [TW)

3. It is too interesting a matter for us to enjoy.
(BT SNTHE T GATOIS FAR YT SHHAT
g6 7991

Rule 25 » Let alone ((FG (FN HFIoy

Fare Ny gt Far wiey)

Let alone Y& incomplete sentence 5 o7
(meaningful word or phrase).

Example:

1. He cannot pass in the third division, let alone
the first division. (7 GOIT FSITIZ A FAC©
AT I, WRIE AN [Forn)

2. He cannot carry 1 kg, let alone 10 kg. ((31 5
(G2 I2N FACO AMF N, AR S0 WF@T!)

Rule 26 » Provided / provided that /
providing that / whether / in case (ﬂﬁ?

o)

Structure: ... provided/provided that/providing
that— (meaningful sentence).

Examples:

1. He will shine in life provided that he works

hard. (5T GIRN S = IM 5T FIR
AR BH|)

2. The plane will take off provided the weather
is_good. (WRRIS Ol AHFCA (AT (BF P
PAEI)

3. | must agree to go providing that my
expenses are paid. (M WI*NR (ICO MG AR
I AR Y6 (MBI =)

4. We'll start our programme whether
circumstances favour us. (&3 SINMg

SFE AFF A (FA SN SNCRI (AT
©F FAI)

5. I've bought a chicken in case her sister stays

for lunch. (WY 436 WA Fz I o7 @
YRA YRIET G 2ACFH )

Rule 27 » So much/so many (S{{N<F)

Structure: So much/so many ¥& incomplete
sentence f6 BT —that + 19 subject +
can/cannot + verb + TIHENIT BT S|
Example:

1. You have so much intelligence that you can
get a job. (ST™IK 9% Jfa WMR (T WA
GO BIFR (TS =M1

2. There are so many problems that | cannot
solve them. (NINF ST AR (F N ST
FACS AR 1))

Rule 28 » By the time (Y95HC)



Structure 1: Main clause + by the time +
Dependent clause

Structure 2: By the time + Dependent clause +
Main clause

Example:

1. | wiil be in bed by the time you get home.
(TS0 QN I PR =iy [Rgry A5641)

2. By the time that the guards realised what was
happening, the gang were already inside the
bank. (TSH(Y 22 JATS AT (T F 2R,
Yo INTF [LF G |)

Rule 29 » In the event (FTHC)
Structure: Results clause + in the event +
Reason clause

Example:

1. | got very nervous about the exam in the

event that it might be very difficult. (Wﬁ[ T
ST YR TR0G IR (@ A6 37 I~
RO AL

Rule 30 » Now that (d4« (J(RYQ)

Structure 1: Now that j cause clause + Effect
clause Structure 2: Effect clause + now that +
cause clause Example:

1. Now that John is married, he has become
much more responsible. (d¥4 (J(XQ G
RRe, fofy Sae @R nfg=ie =3 Trotel)
2. | can enjoy myself now that the exams are
over, (JYN (A(XG “F (Y, AN J4
AT ToAte FAre )

Relative pronoun 49 Rules
Structure 1: Subject+ who/which/what/that etc. +
verb + object — verb +object.
Structure 2: Subject + verb + object—
that/who/which/what etc. — verb +object.
Structure 3: That/Wh-word+ subject+ verb+
object — verb Object.
Example:
1. Riva who is a little girl is my student. (C‘ilﬁ
(VY o1 SR wrat))
2. | know a man who is a doctor. ('\ﬂﬁf
JFGE BN RN gFe i)
3. London is the place where | was born. ((TON
2R 1R Q9N (TN S Gz
AR
4. 10:00 A.M. is the time when | go to the
office. (Y0:00 X(BR (IR SN IYN W WHCHA
RIEY))
5. A railway station is the place where trains
stop. ((FTSTY BN R(BR (1R S9N (LM (G
A1)
6. 1971 is the year when Bangladesh became
independent. (5645 XABR (T8 IRI YN JIATHH
R =)
7. Paris is the city where UNESCO Headguarter
is. (PTEST R(BR (512 S9N (VUM GBI
IRV I FEA)
8. Dhaka is the place where most of the city

dwellers live. (GIT R(BR (12 G5 (TN
SEHI IS T FCIN)




